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D. Assume the reservoir fluids consist of two “components”, surface gas (5G) and
sufuce oil 50). 1 the(SG conmositiotyin the reservoir il fs 60 mol-%, its K-
value is 1.662, calculate the molar compositions (mol-% SG and mol-% SO) of
the GOC reservoir gas and reservor oil, and the K-value of the surface oil.
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5. When reservoir pressure, p,, is 75 bara in RO and producing gas-oil ratio, Ry, is 1000
Sm'%/'Sm‘;,

o find Ry, Bo, Wo, Ts, Boa at pr;

e calculate oil density at pg;
e calculate % of stock tank oil rate that produces {rom flowing reservoir gas.
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2. Calculate gas rate for the flowing parameters given below, including skin in the rate

equatlon: - . _e — IOO&C S SLyaa
kh =1000 md-m, Vitesveys T

r=1000 m, QA.‘,)Z\;,

1=0.1 m, _

pr =200 bara, o= AsswmeNen ~ oo oar
pwr= 175 bara,

psc=1.0135 bara, n 72 = oSt

T=15.56 °C ) \

Skin s=-3 %%\5 = (M2,
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